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{ . What are all values of ® for which the series M i.w.wl converges?
(a) Allwexvepta =0 o
[§:%] Tw =3
Wy ~d=x=d
(o) fxl >3
(E) The sertes diverges for zdl o

2 Which of the follywing series converge to 27
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(a} Tonly
(B) Ilonly
(¢) I only
oy Fand IF only
(£} ILand I only

2, The third-degree Taylor pobmomial about = = 0 of In(1 — 2} is

. . & (x+DF
hn . The complete inferval of convergence of the seres M = is
=
A} B<x<2 By0<x <2 C)-2<x <0 ’

D)2 5 x<0 By-2<x <0

S5, For what values of x does the series ] + 2%+ 3"+ 47+ +1” +._. converge?
A) No values of x B)x<-1 COxz-1

D) x>-1 E) All values of x
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Which of the following statements are true?
1. § converges bacause the terms of S alternate and lim g, = 0.
Feest
1L diverges because it is not tme that [, | < [, | for all m.

IE S converges although it is nof trus that |4, | < |o, | for all .
{A} Nome
{8) Ionly
{€) Wounly
(D) IO only
(£} 1and IH only
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A) sinx B) cosx C) e*

D} &* B} In(1 +x)

£ Which is the best of the following polynemial approximations to €05(2X) near x = 0?
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A = By 1 Cy1-—
w“+m Y 1+x ) 5

Dy 1-2x* E) 1-2x+x”




